L,=1.56 T*=1.56 * 82 =100 m

d/L,=8/100=0.08 from table

d/L=0.1232 the L=65m

b/ L=130/65=2 <5 (Double Breakwater)

X/L=400/65=6.2

Y/L=200/65=3.1

From chartof b=20L ==y k;=0.1 then

Hyo=ks *H;=0.1*%25

H,=0.25m

For Breakwater Gap of 400 m

b/L=400/65=6.2 >5 (Single Breakwater)

o=45" , R=282m and 0=90°

R/L=282/65=4.34

From chart of 0 =90° or Table (3-2) == Kk;=0.145 then

Hx=kq * H;=0.145 * 2.5

H,=0.36 m
Wave Forces sl ) Lif gt o 7] 9a¥) 598 ¥
I- Non-Breaking Zone
H
a0 Sea Side T Harbor Side
Sainflou Formula ) / T,
2 1 1] (0.00)
oo KHY koL ' el
®  2tanh(kd)
H
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cosh(kd) l
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P, =(yd+P,)(— —° e el
! (y 2 )(H + ho + d) G e e e e
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—2>1.0 l
dg |

Miniken Formula B, Tiyn
P =101yﬂ$(n+d) ‘
L, D *
D

HE &
—-l

dyn
D

YH,

st. 2
D = m*L + d, =1
L:d, G & alllie agdsh
Lp: D (s o A dsh




Example (3-6) :
Calculate the maximum wave impact forces and moments on a vertical wall if the

water depth at the breakwater site is 12.0 m, the deep wave height is 5.0 m, and the
wave period is 8.0 sec. (k. = 0.90).

SOLUTION
L,=1.56 * T
Then, L, =100 m

*For d=12m
d/L,=12/100=0.12 from Table (3-1)
d/L=0.1581 and k;=0.9204
L=76m === k=27/L=0.083
H=H, * k; * k, =5.0*0.9204 * 0.90=4.2 m
H/d=4.2/12=0.35<1.0 (non - breaking)

p [, =1.56 * (8)2

Use Sainflou Formula Sean it atborsiis

Lo KHD O 0.083%(4.2)" ca side - '

° " 2tanh(kd) 2*tanh(0.083*12) A0 .

=0.96 m P _ds Umz/i._ Hih,=S.
1 ; i1 (0.00)

P, — YH _ 1.03%4.2 _ - l

2 cosh(kd) cosh(0.083*12) : E W H =18m

=2.381 t/m2 R2m —T - fl_ Z—)H
P, = (yd + P, )( H+h, ) l ki

= + _—
1 Y 2 H+h0+d = R R ™ e
P =2.8tm?
4.2 +0.96 2
= (1.03%12 + 2.81)( ) fe—12m —»
4.2+ 0.96+12
=4.56 t/m’
*Horizontal Force and Over Turning Moment:
Horizontal Force y Moment
Fi=0.5%4.6%5.2 =12.0 t/m 13.7 164.4
F>=0.5%(4.6-2.8)*12 =10.8 t/m 8.0 86.4
F;=2.8%12 =33.6 t/m 6.0 201.6
Hiotar =56.4 t/m M,y 452.4




